- Complete the sentences with the Present Simple (neqative) of the verbs in brackets.

. David (not / watch) films in the cinema.

L e (not / like) to go to parties.

-5. H\’ Pm‘en‘l‘s _________________ Lno‘l‘ / 90) +0 res‘l‘ﬂurﬂn‘l’s.

Y, Peter ————_______ (not / close) the door when he enters.

b Nl e oo ARk GbejJ any rule.

b. Jewels ___________________ (not / disappear) just like that!

[ R — (not / lke) to wait too much lona,

8. Mrs. Underwood ___________________ (not / understand) me.

9 Theshdets . coocoee o (hot / idenJr'rF\]J the subject in the sentence.
10. The nu.ug’n‘f\, bo*s (not / ap0|ogise) for their bad behaviour as a rule.
. Carole e (ot / like) to be disturbed.

[2. Thieves [no‘l’ / admi‘l‘) that 'H'me\j steal.

2- Rewrite the sentences in the neqative form.
I- I walk to school. —________ —_
2- The taxi driver drives very T T
- This kite flies very high. 2y s

Y- I tak to Andrew every dn\i. ____________________________________________
5- Michael works in a Hg e e e, il e

b- TN father speaks German. e
7' w& 90 +0 H‘le SI(O.+8 Po.r‘k e\fﬂr‘# Sunda\f s e o

8- Sarah and you p|t1~1' basketball in the ciﬂ TR, s s 155

toLIVEWORKSHEETS



